uadratics by Completing the Squaré Name:

Math-2 U2.6 Solve Q

e solved easily by factoring. For example,

orm of ax* +bx+¢=0 canb

some quadratic equations in the f
(x+8)(x— 2) =0 to give solutions of

the equation x? +6x—16=0 canbe factored easily to

x=-8and x=2
When a quadratic equation cannot be factored using integers, you have two options. You can USE t:w:e square
quadratic formula of you can use a method called completing the square. When a = 1, completing :

is the way to go (when a >1, use the quadratic formula).

Example 1: Solve x> +8x—10=0 by completing the square.

Since it cannot be factored using integers, xz +8x—-10= 0
Write the equation in the form

ax’ +bx=—c
x:+8x=10

1 Think b=8
Find — of b and add the square of that 1 ;
2 —2—b=4 and 4> =16

' b
number (E)2 to both sides of the

equation x2+8x=10

xX+8x+16=10+16

(x+4)(x+4)=26

The left side is now a perfect square
trinomial (PST), so factor it.

(x+4)? =26
Find the square root of each side. (x+ 4)2 =26
x+4=126

Solve for x x=—4:t\/56
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Graphing Quadratics Review Worksheet Name _———

Fill in each blank using the word bank.
axis of symmefry x-intercepts

verfex minimum
M

parabola maximum zeros/roots
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1. Standard form of a quadratic function isy = AX f C
2. The shape of a quadratic equation is called a ya bu l d
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5. When the vertex is the highest point on the graph, we call th

point on the graph, we call that a
7. Our solutions are the X’ “ ” ‘ l ‘ ‘ |2| g ;
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8. Solutions to quadratic equations are called

r the quadratic functions have two real roots, one r
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9. Number of roots: 10. Number of roots: 11, Number of roots: Z
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12. Given the graph, identify the following.

Axis of symmetry: ,X G 5

Vertex: J % g 2\
t B £ A

How many zeros: Z_ which are: 2 L"

e (LULES.

Range: V Z ’Z
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Graph the following quadratic functions by using critical values and/or factoring.

You need three points to graph and don't necessarily need all th

Remember: Option 1:  If it factors, find the zeros.

e information listed.

The middle of the two factors is the axis of symmeiry.

Option 2: If it doesn't factor, find the axis of

Plug the x-value into the original equation 1o find the y-

vertex. The -intercept is at 0, 9o
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Identify the zeros/roots: ’\ and 2
Does it have a minimum or maximum? W\\Y\\m\/‘m
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y-intercept: (“ }" 3
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Graph at least 5 points
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